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Example 1 G dominant scale

Example 2 x = notes on the beat

x x x x

Example 3 x = notes on the beat

x x x x x x x

Example 4 G dominant scale
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7

œ œ œ œ œ œ œ œ

0 2 4 5
0 2 3 5

G 7

œ œ œ œ œ œ œ

0 2 3 5
0 1 3

%
9

œ œ œ œ œ œ œ œ

0 2 4 5
0 2 3 3

G 7

œ œ œ œ œ œ œ œ

5
0 2 3 5

0 1 1

œ œ −˙

3 5 7
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œ œ œ œ œ œ œ œ

0 2 4 5
0 2 3 7

G 7

œ œ œ œ œ œ œ œ

5
0 2 3 5

0 1 5

œ œ −˙

3 5 7
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œ œ œ œ œ œ œ œ
0 2 4 5

0 2 3 0

G 7

œ œ œ œ œ œ œ œ

5
0 2 3 5

0 1
5

œ œ −˙

3 5 7
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œ œ œ œ œ œ œ

0 2 4 5
0 2 3

G 7

œ œ œ œ œ œ Ιœ ‰

5
0 2 3 5

0 1

œ œ −˙

3 5 7

2

Example 5 x = notes on the beat

x x x x x x x x

Example 6

x x x x x x x x x x

Example 7

x x
x x x x x x x x

Example 8

x x
x x x x x x x x

x x x x x x x x
x x

Example 9
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21 œ œ œ œ œ œ œ

1 0
5 3 2 0

5

G 7

%
22 œ œ œ œ œ œ œ œ

3 1 0
5 3 2 0

5

G 7
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23 œ œ œ œ œ œ œ œ

3 5 1 0
5 3 2 0

G 7

œ œ œ œ œ œ œ œ
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0
3 2 0

5 4 2

ϖ
0

%
26 œ œ œ œ œ œ œ

3 1 0
5 3 2 0

œ ‰ œ œ œ œ œ œ
5 3 2 0

5 4 2

ϖ
0

Example 10

Example 11

Example 12

Example 13

x x x x

x x x x

x x x x x x x
x x

To make CTS on the dominant scale:

1) Asccending or descending, remove the 6 note from the dominant scale.

2) Ascending, play all the notes of the scale adding one eighth note after b7.
We can also make this note a rest. We can also turn the b7 into a quarter note.

3) Descending, play all the notes of the scale, adding one extra note after 1.
We can also make this note a rest. We can also turn the 1 into a quarter note.
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0 2 0
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œ œ œ œ œ œ œ œ
4 2 4 5 7 5

0 2

G 7

œ œ œ œ œ œ œ œ
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œ œ œ œ œ œ œ œ

2 0 2 3 5 3 5
0

œ œ œ œ œ œ œ œ

1 0 1 5 3 1 3 5

œ œ −˙

7 5 7
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3 5 7 3 1 3 5 1

G 7 œ œ œ œ œ œ œ œ
5

0 1
5 2 3 5 2

œ œ œ œ œ œ œ œ
5

0 2
5 3 5 7 3

œ œ œ œ œ œ œ œ
0 2 3 0

4 5 7 4

œ œ œ œ
Ó

0 2 4 0

%
44

œ œ œ œ œ œ œ œ
4 2 0 4 7 5 4

0

G 7

œ œ œ œ œ œ œ œ
3 2 0 3 5 3 2 5

œ œ œ œ œ œ œ œ
2 0

5
2 5 3 2 5

œ œ œ œ œ œ œ œ
1 0

5
1 3 1 0 3

œ œ œ œ Ó
7 5 3 7

Example 14 CTS dominant lick #5

Example 15 CTS dominant lick #6

Example 16 CTS dominant lick #7

Example 17 CTS dominant lick #8


